Bai tap: Lién hé gitra phép nhan chia va khai phwong

I LT

-Néu A,B=0suyra w/A,B = \/Z,\/Evé nguoc lai, twong tu vdi chia (lvu y B dwong)
II. Bai tap

1. Tinh:

a) 1/9.64.0,25; b) \/54/304/42.28; ¢) /2,5.4/16,9; d) /252 —[700 ++/1008 —/448;

1 1 9 4 149%* - 76° 5J7+75
e) |=~2125..]=;:f) ,/1—.5—.0,01;g) ; h) ;i) (248 =33 +1): 6;
'3 \'s 16 9 457% -384° 35 S

K) (\E+%\/3_2—4\/7_2):\/5; ) (é %—%\/4,_5%\/5):%\/; m) 2/40812 — 2475 — 34548
n) (12+/50 —8/200 + 74/450) : /10

2. Rut gon:

) N6+N14 9543427 V156 ) 3B 2124420 | N2+ 4+VE 4B +4.
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2015 210 ++/6 -3
f 18) (1=v2+3)1=2 =B);h 2+ D)5 -
)2ﬁ—zm—ﬁ+£g)(l V2 +3)A=V2 - B)ih) (V5442 + D5 -1)

3. Rut gon:

a) A= 44243 423 0)B= \J4+ T —J4=fT —+2:¢) C= {[(V2=3) 11+ 642
d)D=(\3-3). /3_1J§‘e)E= (5 +A2)B + 241 +2)3=24/1+42);

f)F=(3—BI34/5 + B3 -5:8) G= 2-V3)W6 +V2)N2++/3;
h)H= 2 < 1\/2 V3= J_\/2+ -2 I)l—\/S\/§+5\/48 1037 +43 5

kK= ;:ﬁ?;‘/_— \/*45:22\/‘/; D= 444104245 +4-410+245

M = \/*E*f/;_”f_f_z —3-2{2




